=

=2

v

(65%)

(25, H65c. HBTERMR)
O AeH R AT S
E/FEITEALERERMNE OREEREEATFHESE
OZaH LR HEE

P ATERT =

i

G2

p={1s

all

HEGH T
K4 -

St & Ot : AN - PRiEE - T O ( )

il
T

i

Ny

TREIC & 0 AR AR I e A A RE AT O R 2 L E T

SATERE OPTIFEARE AL TR - B0

I CRE T DB EIRFIC L VITO ZEIZRE L £ TS

&
ZieE | K 4
EEAR - OKE - O - DR - D4 F £ A A
OsLsh IR - R
ORFES (O - 0% ORXFREOR - OF)
gﬁ OB AT FIE (D18 - D28k - 036
X5 [ AR A A T B 2 32 3 5 B (6538 LA b C RS FIRSEATHY)
OIS FHE (KA1 - [JA2 - [IB1 - [IB2)
SRR TIE (D1 - D28k - O3%)
B A
x5
| ERRRORE (RRE4H) -
PRER | ety - REES
eI AE
A | Sk (D 4 M - W - (1Y%
NERE YE INCEE D)
B AR R OSSR & R AT B,
GRS OB AL FEE O L TAT S,
- AL AT R DA IR E . BRSO R ETAT S,
ZOM | - RATEE R E A, ZREREEEREORA
OEFEEROWIRRE Tl 5 = L 2R 2 EDE L
QTR ENETHST 5 = L AT 5 TR, EEEOT L (BAVEDE DR
@HYTORIESL « MEERD - HENENDPEYOEL GEIE - 5 — %)

OLLTRANE (S EAM)

FHIEAER G2 H H| - #F4&HA = A H
A IR G H H| - FENE OEREAREKR DO#RBGE
~ £ A H OFEH#H FIRSS Z DAt ( )
e - FAEMNE REEEALR
- FwASR ORE @R -0 - 080 )




